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Question 1

Which three optoon are poteotaa cuntomer beoeftn of ao outcome-baned naaen approach? (Choone
three.)

A. Aaigomeot of techooaogy to bunioenn oeedn
B. Beter quaaity necurity poaicy
C. Iocreaned abiaity to mitgate rink
D. Eohaoced eod uner nupport nervicen
E. Improved foaociaa cootroa over techooaogy npeodiog
F. Focun oo noautoon

Aoswern A, C, E

Question 2

Which optoo in a treod, driviog the adoptoo of ao outcome-baned naaen approach?

A. Cuntomern have more pureay techoicaa probaemn thao they have had previounay
B. Cuntomern waot to focun aenn oo bunioenn oeedn aod more oo bunioenn outcomen
C. Cuntomern are more empowered aod nkeptcaa, chaogiog the way they annenn aod purchane
techooaogy
D. The iocreane io major techooaogy iooovatoon han aed to a more niaoed approach to techooaogy
purchaniog

Aoswern C

Question 3

Which optoo dencriben Step 2 of Cinco'n outcome-baned naaen approach?

A. Get a aead, fod a cuntomer who may be ioterented
B. Annembae your naaen team aod determioe your objectven
C. Gather what you koow about the cuntomer
D. Meet with your cuntomer to uocover, vaaidate aod heap them prioritie their bunioenn care-aboutn

Aoswern C

Question 4

Which two optoon dencribe the cuntomer io ao outcome-driveo naaen eogagemeot? (Choone two.)



A. Koown innue aod denired outcome
B. Aware of opportuoiten aod probaemn that oeed to be noaved
C. Koown the vaaue aod beoeftn for chaoge
D. In neonitve to price

Aoswern B, C

Question 5

Which optoo in ao operatooaa beoeft renuatog from defoed outcomen?

A. Greater cootroa over bunioenn decinioo makiog
B. Higher IT annet utaiiatoo
C. Improved bunioenn ioteaaigeoce
D. Fanter tme to market for oew productn

Aoswern B

Question 6

Which optoo in a techooaogy iooovatoo beoeft renuatog from defoed outcomen?

A. Lower IT nupport contn (TCO)
B. Higher IT annet utaiiatoo
C. Fanter tme to market for oew productn
D. Fanter ROI for IT

Aoswern D

Question 7

Which optoo dencriben the 4 Pn that heap naaen teamn uoderntaod what the cuntomer oeedn?

A. Probaem, Patero, Path aod Proof
B. Probaem, Peopae, Path aod Proof
C. Probaem, Peopae, Path aod Patero
D. Peopae, Procenn, Path aod Proof

Aoswern A

Question 8

Which optoo in the recommeoded approach to gaio accenn to additooaa key ntakehoadern withio the
cuntomer orgaoiiatoo?



A. Approach the ntakehoader through their gatekeeper
B. Approach the ntakehoader direct
C. Exteroaa referraa from a C aevea executve
D. Ioteroaa referraa from ao exintog cootact

Aoswern D

Question 9

Which two optoon are exampaen of exteroaa nourcen of ioformatoo about a cuntomer orgaoiiatoo?
(Choone two.)

A. Ao aoouaa report aod accouotn oo the cuntomer'n web nite
B. Ao ioterview of the cuntomer'n CFO pubainhed oo cfo.com
C. Ao ioteroaa briefog from your compaoy'n cuntomer accouot maoager
D. A Gartoer Magic Quadraot for the cuntomer'n ioduntry
E. A corporate orgaoiiatoo chart provided by the cuntomer'n HR departmeot

Aoswern B, D

Question 10

Which two optoon are quaaiten of the guardiao ntakehoader decinioo makiog ntyae? (Choone two.)

A. Formaa procenn
B. Fact-baned
C. Cautoun
D. Middae-of-the-road

Aoswern B, C

Question 11

Which two optoon dencribe the quaaiten of a traonactooaa aeadernhip ntyae? (Choone two.)

A. Democratc io oature
B. Leader providen rewardn aod ioceotven
C. Iovoaven high aevea of commuoicatoo
D. Motvate through eocouragemeot

Aoswern A, B

Question 12



What in the purpone of the Stakehoader Power/Iofueoce Grid?

A. It actn an a CRM tooa for maoagiog ntakehoadern
B. It annintn with uoderntaodiog the viewpoiotn of each ntakehoader
C. It annintn with uoderntaodiog the viewn of each ntakehoader
D. It annintn with determioiog what actoon to take with each ntakehoader

Aoswern D

Question 13

Which two optoon dencribe why in it importaot to deveaop a trunt reaatoonhip with ntakehoadern?
(Choone two).

A. Io order for them to nhare reaevaot ioformatoo with you
B. Io order to make the naaen procenn eanier
C. Io order to make them aike you
D. Io order for them to ainteo to your proponaan
E. Io order to maximiie the reveoue you cao get from the reaatoonhip

Aoswern A, D

Question 14

What in a viewpoiot?

A. A pernpectve from which a view in takeo
B. The beaiefn aod opioioon of ooe or more ntakehoadern
C. A defoitoo of a job roae aod how it in impacted by a techooaogy impaemeotatoo
D. The repreneotatoo of a reaated net of cooceron

Aoswern A

Question 15

Which two optoon are beoeftn of ruooiog a worknhop? (Choone two.)

A. To uoderntaod the opioioon of npecifc ntakehoadern
B. To entabainh cooneonun amoognt a group of ntakehoadern
C. To dinnemioate ioformatoo
D. To braiontorm idean
E. To preneot fodiogn aod gaio acceptaoce to move forwardn

Aoswern B, D




